A human Chromosome 3q

123600600)| 123650600| 125708060| 12z7s00aa] 1235aaa0a| 12535
frdeatcH e
PART9
N B —
PARTS
RHYSIN 2
T PARIL7
-4
HSPBAP 1
[ Ll § I I ]
¥ L] ; ; 1
===
ECcoles4c | AKeS7I1E HEHH AT1s4558 HebH-1
ALE3359S [HIl AL1S7TS1 | AKASES1E )
| ABGSS 694 1
| Ak B2 865
| AKBE1TTA
| Ak 22542 He=4
ECce42191 [HIll EBCos0s 64 He1ll
44 Brasesad
Ak B9TELE o=k HEEH AKB2Ea 63
AKBZTZEA ||
AF 826945 |
Ake2E27E |
AF4BBEES focpcfeadecd |
BCel7TeS |
AKBIET RS Jecdecdecced
BCells07 fechodeadasd |
B murine Chromosome 16B3
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